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1. Uwypwiplbn
15811100|Zwmg Qz Iq 360( 180.0{ 500
15512100|Ywpuq ukipnigpuyht Qz g 4500 540.0 120
15111120{Swjwph vhu,nbknuljul huthny QZ lq 3800{ 570.0f 150
15831000|Cwpwipuyuq uujhinuly Qz liq 350/ 35.0{ 100
15511600| [tnugpwd Yup az |yg | 1400 70.0[ . 50
15623200 Uy hunnujudwuip Qz liq 500 5.0 10
15616000 | 2Zunjuadwun Qz liq 400 16.0 40
3211300{£phud Qz lq 500 50.0 100
15331153| Nuy Qz liq 600] 24.0 40
3221117|0nn Qz g 500 15.0 30
15850000| Uwjuuipniikn ki Qz liq 450 33.8 75
15311100 Yupinndhy Qz  |yg 200 120.0] 600
15331161|Unju,qinthu Qz g 3001 IS5 85
3221410{Yunuup Ywppwd Qz liq 150f 225 150




3221100{Fugnily QZ liq 250 8.8 35

3221110|Qwqup Qz liq 250 6.3 25

3221121 Mndhnnp Qz g 200 20.0; 100

3221124|9wipniliq Q2 liq 2001 34.0f 170

3222128|Ivudnp QZ liq D0 - 12.5 50
15331167 | Ywliwush, juwnp Q2 Juy 200 6.0 30
15863200/ %) ul az |yg | e000] 480| 8
15821500| @faubpup hplkp Qz liq 1000{  20.0 20
15842310 Untipbtiwn, pupudty QZ liq 1400 21.0 15
15841400 Ywljuinjh thnph Qz liq 2500 5.0 2
15551600| Uwdniu Qz liq 600 90.0f 150
15333100{SnUwwnp dwdnry QZ liq 1000( 14.0 14
15872400{Un Ytpwyph,dwln QZ liq 200 5.6 28

3142510{2nt Q2 huwn 60| 102 170
15871257 | Zmlkuntuplitip Q2 wnuh [ 100 1.0 10
15332291 (QtU,5hpwtth Q2 liq 1600  24.0 15
15332296| b, Ejulyh Q2 lig 1600 16.0 10

3222132|}nd Qz lig 300 9.3 31

3222100| Puiwula Qz g 500 215 43
15321000| Twwnpwuwnh oqunugnpduw phwljul hynip Qz 1hwp 500{ 120.0f 240
30197622|[@ninp A4 npUwnh Ul huwwn | 2500 12.5 5
30192770| Nuutnfihl tinuhny UU  |hwwn | 750 38| 5
30197231 Mnjhdkpuyht punuiip, duy Ul hwwn | 1500 12 1
22851100 Upwqulupltp UU  |[huwn 100 0.5 5
24910000|Unuphtiditip Ul huiwn 200 3.0 15
30192100| (*Ewinhlt hwuwpuy Ul huiwn 200 1.0 5
37821130|9nihun)np dwnhwnubkp Uu huwn 800 5.6 7
30192121|9phy qunhjuynp Ul hwiwn 50 29 50
30192128|%nhs gljuyhte Ul huwn 100 1.0 10
37821150| Ywh&ukp Uu hwiwn 700 .} 3
37521140|Yppuljult ppuntp Uu hwiwn 800 6.4 8




30197112|Ywphsh dbknunuupk juwybkp vhoht )88 huiwn 200 1.0 5
30197120|Un&quiditip )88 hwn 100 0.5 5
30141200|Zwipwuwipp ulkinuiih 88 hwwn | 3000 6.0 2
22820000{2uwpnptp uu hwiwn 3.6 1
30192114|@wtwp Yuhph pupdhljh hudwnp Uu hwuwn 500 1.0 2
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37520000{ Fvunuihplbp UU.  |ppuu 100.0 1
30192231{Ulyns UU  |[huwn | 500 20 4
33761100|niqupwth pninp uu hwwn 150 7.3 50
33141118|Udtinnghljutip Ul huwn 150 4.5 30
33141118{Udknnghljukp Ul huiwn 650 3.9 6
39221170|Utinh nupwtikp uu hwwn | 5000 5.0 1
39221410|Uykjutip Ul hwuwn 1200 6.0 5
39221490(Uwniuqutip Ul huin 200 10.0 50
39522250(®npnt hwdwpdwh juwnplkp Uu huwn 200 4.0 20
39831241{O&wn dtinph )88 hwiwn 200 6.0 30
39831242|Lywgph thnoh dkinpny (Juwtiunt hudwp Ul hwwn 450 2.3 5
39831243|LJwugph thnoh winnduwn Ul hwuiwn 3000 18.0 6
39831280| Uwwljh dwppkint Uhgng Ul hun 400 2.0 5
39831283| Zwnuiljh (Jugdwt jup )88 hwuwn 600 6.0 10
24451141|Ujninnwhwthy hinnil) iyniplip Ul 1hwp 130 6.5 50
39812600| Uwippnn dwdniljutip b thnphttip uu huiwn 300 3.0 10
39831600| Unyuiuph (Jugdwt wpiunpuitip uu hun 400 8.0 20
19642000| Mnjhtphktuyhtt wwpl,uiiquyht Ul hwwn 100 & | 11
19642000 Nn htphikuwghtt yupl,utiinuht Ul hwwn 350 4.2 12
39220000 lunhwingujhtt uvwppkp nbnbkuwlw b jeigunuyhtt hpkp{ U npud

U hwlipuyhtt uiinh Juquulkpuydwh ynipkp 30.0 1
44110000{Chttmpupuljut ympbkp 88 npuu 70.0 1
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65000000 Ununt i) Swnuynipjniitip Ul npud 10.0
165310000 Ejkynnpuiljut pupfuntd Ul npud 45.0
65210000{Qwqh pupfuntd Ul npuu 75.0
99000000|Qun1d shwiinhuwgnn Swjuubp npud 7308.0
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